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Summer Pre-Calculus review for AP Calculus AB 
 

Name:______________           due on/before August 24, 2022 
 

 

On the graph with the parent function draw and label a sketch of each additional 
equation in the family.  Check your sketch with the graphing calculator. 
 

1) Parent Function: 2y x=  

a) 
2 5y x= −  

b) 
2( 10)y x= −  

c) 𝑦 = −2𝑥2 

d) 
2( 3) 6y x= − + +  

 
 
 
 
 
 
 
 
 
 
2) Parent Function: siny x=   (set mode to RADIANS) 

a) 
( )sin 2y x=

 

b) sin 2y x= −  

c) 2siny x=  

d) 2sin(2 ) 2y x= +  
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3)  Parent Function: ( )lny x=  

a) 
( )ln 3y x= +

 

b) 
( )lny x= −

 

c) 
( )lny x= −

 

d) 
( )lny x=

 

 
 
 
 
 
 
 
 
 
 

4) Parent Function: 
xy e=  

a) 𝑦 = 2𝑒𝑥 

b) 𝑦 = 𝑒𝑥 + 3 

c) 
xy e−=  

d) 2 xy e= −  
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5) Using your  calculator (or Desmos) set the x “window” to [0,1]  and the y “window” to 
[0,1].  Graph all of the following functions in the same window.  List the functions from 
the highest graph to the lowest graph.   

a) 2y x=      b) 
3y x=  

 

c) y x=     d) 
2

3y x=  

 

e) y x=      f) 4y x=  

 

Highest Letter  

▼  

  

  

  

  

Lowest  

 
 
6) Using your calculator (or desmos) set the x “window” to values greater than 1 [ to 
[0,5]  and the y “window” to [0,5].  Graph all of the following functions in the same 
window.  List the functions from the highest graph to the lowest graph when 1x  . 

a) 2y x=      b) 
3y x=  

 

c) y x=     d) 
2

3y x=  

 

e) y x=      f) 4y x=  

 

Highest Letter  

▼  

  

  

  

  

Lowest  
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More Calculator practice 
 

7) Given: 4 3 2( ) 3 2 7 11f x x x x x= − + − −  

 Find all roots to the nearest 0.001 
 
 
8) Given: ( ) 3sin(2 ) 4 1 on [ 2 ,2 ]f x x x  = − + −  

 Find all roots to the nearest 0.001.   
Note: All trig functions are radian mode. 

 
 
Solve the following inequalities. 

9) 2 6 0x x− −     (this can be a calculator or by hand) 

 
 
 
 

10) 2 2 5 3x x− −   

 
 
 
 
 

11) 3 4 0x x−   

 
 
 
 
12) Where does  ( ) 3 2f x x= +   intersect ( ) 4 2g x x= − − ? 

 
 
 
 

13) Given:  2( ) 5 2f x x x= − +  and ( ) 3 2g x x= −  

 Find the coordinates of any points of intersection.   
 
 
 
 
 
14)  Solve by hand on the interval [0, 2π]. Leave your answer in terms of 𝜋.  Check with 

your calculator.  2 cos 𝑥 + sin 2𝑥 = 0  
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15) If 4 3 2( ) 7 6 8 9f x x x x x= − + + +  

 a) Find the coordinates of the lowest point on the graph. 
 b) Find the coordinates of the highest point on the graph.\ 
 c)  Find the interval(s) over which f(x) is increasing  
 
 
 
 
 
 
 
 
 
 
16) Given 𝑓(𝑥) = 𝑥2 − 5𝑥 + 4 
a) Sketch the graph of f(x) on 
     the grid to the right. 
b) By hand, sketch the graph of |f(x)| 
c) By hand sketch the graph of f(x) - 2 
 
 
 
 
 
 
 
 
 
 
 
 
17) Find the equation for the given polynomial 
 that goes through the points (-4, 0), (0, 0), 
 (1, 0), (2, 12) and 3, 0) and touches the  
 point (-2, 0).  See the graph to the right. 
 Show your work, check your solution 
 with your calculator  
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18) 


